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The actual test paper has 50 questions. Time allowed : 60 minutes, There are 4 sections:
10 questions in_section I, 10 in section I, 25 in section Il and 5 in section V.

SYLLABUS

Section = | (Mental Ability) : Number Systems, Polynomials, Coordinate Geometry, Linear Equations
in Two Variables, Introduction to Euclid's Geometry, Lines and Angles, Triangles, Quadtilaterals,
Areas of Parallelograms and Triangles, Circles, Constructions, Heron's Formula, Surface Areas and
Volymes, Statistics, Probability.

Section — Il {Logical and Analytical Reasoning) : Froblems Based on Figures, Odd One Out,
Series Completion, Coding-Decoding, Mathematical Reasoning, Analytical Reasoning, Mirror Images,
Embedded Figures, Direction Sense Test, Cubes and Dice,

section — Il (Computers and IT) : Algarithms and Flowcharts in Frogramming, Visual Basic,
Animations, HTML, Internet and Viruses, M5-Word, M5-Excel, M5-PowerPaint, Hardware, Software,
Input & Output Devices, Memory & Storage Devices, Flash, Networking, Latest Developmentsin
the field of IT. g

Section — IV (Achievers Section ) : Syllabus as per section Il
Questions are based on Windows 7 and M5-Office 2010.

NATIONAL SCIENCE ﬂL‘I’h‘IPIHD

The actual test paper has 50 questions. Time allowed : 60 minutes, There are 3 sections:
15 questions in section 1, 30 in section Il and 5 in section Il ' '

S5YLLABUS

Section — | (Mental Ability) : Number Systems, Palynomials, Coordinate Geometry, Linear Equations
in Two Variables, Introduction to Euclid's Geometry, Lines and Angles, Triangles, Quadiilatarals,
Areas of Parallelograms and Triangles, Circles, Constructions, Heron's Formula, Sutface Areas and
Volumes, Statistics, Probability, Logical (Verbal and Non-Verbal) and Analytical Reasoning.
section = Il (Science) : Motion, Force and Laws of Motion, Gravitation, Work and Energy,
Sound, Matter in Our Surroundings, Is Matter Around Us!Pure, Atoms and Molecules, Structure of
Atom, Cell = The Fundamantal Unit of Life, Tissues, Diversity in Living Organisms, Why Do We Fall 111,
Natural Resources, Improvement in Food Resources.

Section — 1l (Achievers Section ) Syllabus as per Section Il.

INTEﬂ H.H.T!GNAL
MATHEMATICS OLYMPIAD

The actual test paper has 50 questions. Time allowed : 60 minutes, There are 4 seclions:
20 questions in section’ |, 15 in section I, 10 in section Il and 5 in section [V,

SYLLABUS

Section — | (Logical Reasoning) : Mathematical Operations, Series Completion, Arithmetical
Reasoning, Problems on Cubes and Dice, Number Ranking & Time Sequence Test, Inserting
Missing Character and General Reasoning Based on Prescribed Syllabus.

Section — Il (Mathematical Reasoning) : Humber Systems, Polynomials, Coordinate Geomelry,
Linear Equations In Two Variables, Introduction to Euclid's Geometry, Lines and Angles, Triangles,

‘Quadrilaterals, Areas of Parallelograms arid Triangles, Circles, Constructions, Heron's Formula,

Surface Areas and Volumes, Statistics, Probability.

Section — Il (Everyday Mathematics) : The syllabis of this section will be based on the syllabus
of Mathematical Reasoning and Quantitative Aptitude,

Section — IV (Achievers Section) : Syllabus as par Section I,
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. : BRITISH
COUNCIL

The actual test paper has 50 questions, Time allowed : 60 minutes. There are 4 sections.
' SYLLABUS

Section = | (Word and Structure Knowledge): Concord, Question farms, Tenses, Conditionals,
Modals, Reported speech. Collocations, Phrasal verbs, Idioms, Homonyms and homaphones,
Words related to social cause, Travel, Workplace, etc, ;

Section - Il (Rea dlng] Search for and retrieve information from various text types like fiyers,
Classifieds, Dictionaries, etc., Understand information presented in instruction manual format,
Me;sage'h}rmat and others, Acquire broad understanding of and look for specific information
in longer texts like editorials, Essays, etc.

Section — Il (Spoken and Written Expression) : Ability tounderstand situation-based variations
in functions like Giving advice, Stating preferences, Discussing probability, Making an olfer, etc.
Section — IV (Achievers Section) ; Syllabus as per Sections |, 1 and 111,
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" MENTALABILITY: . =

1 T1.'.rc- cfﬂcks are set at lhe same time, one is seen to gain 40 seconds and ulher o lose 5[] se-:onds
in 24 hours. In how much time will they show a difference of 15 minutes?
(A) 90 days (B) 10 days {C} g0 hours (D) 10 hours

A cylinder and a cone have the same hE|ght and the same radlus of the base The ratm betwaer-.
the volumes of the cylinder and the cone is .
{A) 1:3 (8) 3:1 {C}1:2 D) 2:1

3. Inthe given figure if POR is an isoscelas triangle and PSR is an equilateral triangle
and X = 26° then the value of Y ( in degrees) will be

[o*]

(A) 17° (B) 27°

(C) 31° gy (D) 47°

4. Each side of a rhombus is 5 cm and one of the diagonals is 8 cm. Calculate the length of another
diagonal and the area of the rhombus.
(A) 8cm, 32 cm? (B) 6cm, 24 cm? (C) 4 cm, 16 cm? (D) 7Tcm, 28cm?.

LOGICAL AND ANALYTICAL REASONING

5. Step1:Add 4
Step 2 : Subtract 1

Step 3 : If less than 15, jump to step 1 and conlinue from there; olherwise proceed lo step 4
Step 4 : Add 3

Step 5 : If greater than 18, subtract 2
If you start with a value of 1 and then apply the above inslructions, what is the end result?
{A) 11 {B] 1? {C} 18 (D} 19.

6. On planet){ the Iclcal termmﬂlcg:,f for eanh water, Ilght air and shy are light, air, earth, sk:,r and water
respectively. If someone is thirsty there, what would he drink?
{A) Sky (B) Water {C) Air (D) Light.

7. Consider the given Venn diagram.
The numbers in the Venn diagram indicate the number of persons reading the
newspapers. The diagram is drawn after surveying 50 persons.
In a population of 10,000 how many can be expected to read at least two newspapers?
(A) 5000 (B) 6250 (C) 6000 (D) 5400

8. Hari, Pinto, Oliver, Chris, and Tony drew different geometric figures: a circle,a pentagon, a trapezoid,
a hexagon, and an octagon. No persons's name begins with the same first lelter as that person's
drawing. Chris, Pinto, and Tony drew figures with more than 4 sides. Chris drawing has the mosl
sides. Oliver's drawing has exactly one pair of parallel lines. What did Chris draw?

(A) Circle (B) Octagon {C) Hexagon (D) Pentagon

. " .COMPUTERS AND INFORMATION TECHNOLOGY.
9. In Visual Basic, Hour(} function returns _

{A) An Integer specifying a whole number  (B) A whole number between 0 and 23
(C) The hour of the day (D) Allof these

10. Which of the staternents about HTML is INCORRECT 7
{A) Allribute names are not case sensitive, (B) LINK defines the color of the unvisited link.
(C) The line break element is a container element.
(D) The default colouring of VLINK attribute is purple.

11. What does a disc fragmentor do?
(A) Itis a ulility program that facilitales compression of files so that they occupy less slorage space
(B) Itisa ulility program that minimizes the lime taken by the hard disk optical reader to read up ‘split’
files. It does so by rearranging the files and free space on your computer so that files are stored
in contiguous memaory.,
(C) Itis a utility program that facilitales the backing up of the disk
(D) Itis a utility program used for creating and editing text file.

(2]
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I 12. What does OCR stand for?

{A) Optical Character Reader {B) Optical Character Recognition
(C) Operational Character Reader (D) Only Character Reader.
13. Match the foliowing
1. Scanner A. Input Device
2. OCR B. Output Device
3. Light pen
4. Plotter
5. Printer
(A) 1A, 2B, 3A, 4B, 5A (B) 1A, 2A, 3A, 4B, 5B
(C) 1A, 2A, 3B, 4B, 5B (D) 1A, 2B, 3A, 4B, 5B
14. The smallest unit of memory is ;
(A) 16 byles (B) 8 bits (C) 1 kilobyte (D) 1 GB.

15. Which of the foltuwing symbols will be used to end the flowchart?

3 P e g ) Pl @G> o
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1. A person is standing on a staircase. He walks down 4 steps, up 3 steps, down 6 steps, up 2 steps,
up 9 steps, and down 2 steps. Where is he standing in relation to the step on which he started?
(A) 2 steps above (B} 1 step above {C) The same place (D) 1 step below.

2. The heights (in cm) of 9 students of a class are as follows:

155, 160, 145, 149, 150, 147, 152, 144, 148
Find the median of this data.
(A) 145cm (B) 150 cm (C) 160 cm (D} 149 cm

3. A rhombus sheet, whose perimeter is 32 m and whose one diagonal is 10 m long, Is painted on bolh
sides at the rate of ¥ 5 per m?, Find the approximate cost of painling.
(A) T 625 (B) T 325 ~{I:'.:}| 7105 (D) T 189

4. Ehaﬁdra spent 2/5 of hér income of January for rent, and ﬁfd of the remainder on other expenses.
If she put the remaining ¥ 180 in her savings account, how much was her income in January?
(A) 1,000 (B} 1,200 (C) ¥ 1,400 (D) ¥ 1,600.

5. If Ois the centre of the circle, find the value of x . 0 D

(A) 50° A6 Ff\\

(B) 40°

(C) 55° N /

(D) 30°

; e SR 25 SCIENCE

6. Elements having the same number of valence electrons in their atoms have
(A) Similar atomic sizes (B) Similar number of neutrons
(C) Similar metallic character (D} Similar chemical properties.

7. Suppose you are pushing a loaded shopping cart. Which of the following is true 7
(A) If action force always equals reaction force, you cannot move the cart because the cart pushes
you backward just as hard as you push forward on the carl
(B) You push the cart slightly harder than the cart pushes you backward, so the carl moves forward
(C) You push before the cart has time to react, so the cart moves forward
(D) You are in contact with the earlh through your high-friction shoes, while the cart is free to roll on
its round wheels, so the carl moves.

[3]
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8. The speed ¢ of surface waves of wavelength A travelling in deep water is given by the equation

L= \I(_;E where g is the acceleration due to gravity, Which one of the following options would give
1y

a straight line graph, given that f is the frequency of the waves ?
(A) fagainst A (B) fagainst A (C) fagainst A? (D) f2 against A,

9. Read the given slatements and mark the correct option.

Statement 1 : Echo is produced only when sound is incident on hard and polished surface.

Statement 2 : Sound energy can be totally reflected by objects with soft and loose texture,

(A) Both statement 1 and statement 2 are true and statement 2 is the correct explanation of
statement 1.

(B) Both statement 1 and statement 2 are true and statement 2 is not the correct explanation
of statement 2.

(C) Statement 1 is true but statement 2 is false

(D) Both statement 1 and statement 2 are false

10. What happens to the inertia of an object when'its velocity is doubled ? 2
(A) The object's inertia becomes 2 times greater I
(B) The object's inertia becomes 2 times greater
(C) The object’s inertia becomes 4 times greater
(D} The object’s inertia is unchanged.

11. Filtration as a method of separation can be used for mixtures that are
{A) homogeneous and liquid-in-gas mixtures
(B) heterogeneous and liquid-in-liquid mixtures
(C) homogeneous and solid-in-liquid mixtures
(D) heteregeneous and solid-in-liquid mixtures.

12. Molten sodium chloride conducts electricity due to the presence of
(A) Free molecules of NacCl {B) Free electrons
(C) Free Ma* and CI” jons (D) Free atoms of sadium and chlorine.

13. The given figure shows a type of permanent tissue in which cells are
living, elongated and irregularly thickened at the corners. Identify it
(A) Parenchyma
(8) Collenchyma
(C) Sclerenchyma
(D) Xylem parenchyma
14. Species X are chlorophyllous plants which are autotrophic in their mode of nutrition & may be of
green, yellow, orange & red colour etc. Species X belongs to Y which are non-vascular plants and
whose plant body is not differentiated into true roots, stems & leaves and have unicellular and
nonjacketed sex organs. In the above passage Y is
(A) Bryophyta
(B) Thallophyla
(C) Pteridophyta
(D) Gymnosperms.

15. Refer the figure and identify from the marked alphabets (a, b, ¢, d) which is responsible for the following
functions.
(1) Means of localization of the chromosomes within the cell
() Selective barrier, allowing certain substances in or out of the
nucleus
(i) Means of sequestering many of the mRNA processing activities
from the cylosol and separating nuclear and cytoplasmic

conslituents il _
£ Heterochromatin
(A) a I:B} b Chromatin net
d
(C) c il ~ (D) aandd.

L4
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LOGICAL REASONING

1. Apples, cherries and grapes are arranged on a plalter in the following fashion: opposite sectors contain
fruit which Is of equal value. To equal the value of two bunches of grapes, how much fruit must be placed
in the emply sectar?

(A) @ ®) @

Qg (D) q@f‘

2 ULk den-nles +, M denotes x, P denotes + and Q denotes —, then which of the following statements is true?

{(A) 32PBL1EQ4=—% (B) 6M18Q26L13P7 = 11?33

(C) 11M34L1?QEL3=% {D}QF‘QLQQEMB——H

30 vl
3. Find the missing number |
Sl e _[

() 987 (B) 824 {C} ?59 {D} G?B
4. Complete the pattern, 6, 11,2198, 86, 1.9

(A) 42 (B) 51 (C) 81 (D) 91

MATHEMATICAL REASONING
: : . ¢

5. In the given diagram, parallel lines ! and m _ _

are cut by transversal {. = k ke

Which statement about angles 1 and 2 must be true? \2 m

Ay £1 =2 £2 (B) ~#1 is the complement of ~2

{C} 11 is the supplement of /2 (D) £1 and £2 are right angles
6. What values of a and b make quadrilateral MNOP a parallelogram? o 2

(A) a=1,b=5 (B) a=5b=1

3a-2b 13
el I _ 34 _ 34 3 11

ol S e R RS S P o e B
7. For the quadrilateral shown here, what is Aa + Lc7

(A) 53° (B) 137°

(C) 180° (D) 233°

8. The median of the observations 11, 12, 14, 18, x + 2, x + 4, 30, 32, 35, 41 arranged in ascendmg order
is 24. Find the value of x

_(A) 22 L AB) 18 ™ Ho) 2 Lo iB)25;
: 16%x2" - 42"
9, Simplify : -
piity 1ﬁ><2n+2—2)<2n+2
(A) 1 (B) 6/11
{C} 0 (D) 1/2
11} Fmd the remainder when p{y) = y* + y* + 2y + 3 is dmded yo+ 2,
(A) 1 (8) 4 J ©-5 (03
(5]

Class 9



14

15.

(#
L e

8. The spead r At ~. ¢

11. The ordinate of any point on x-axis is _

A) 0 - ®) 1 ) -1 (D) any number
12. What is value of x?

() 35° (B) 60°

(C) 85° (D) 95°

EVERYDAY MATHEMATICS

13. A right circular cone has radius 5 cm and height 8 cm. What is the lateral surface area of the cone?

(A) 40n sq cm (B) 445n sq cm
(C) 5n /39 sq cm (D) 5 /89 sq cm

14. A rectangular kilchen table is three times as long as it is wide. If it was 3 m shorter and 3 m wider it would
be a square. What are the dimensions of the rectangular tabla?

Ay 9x3 (B) 4x%2
03 o2 SO T b g AR RS 8 .

15. Two carpenters decided to design desks far students at the Junior High School. The dimensions of the
desk are as shown. How much woad (in cm?) would they need for 30 desks? oL geell
(A) 2700 cm? /1
(B) 80000 cm? ' f.-"' 20em | \ _
(cy 21000 cm? / | | %

(D) 81000 cm?

| ol i@ [nternational English Olympiad

WORD AND STRUCTURE KNOWLEDGE

Direction (Q. No. 1 and 2) : Choose one suitable word/phrase for each blank. Make sure that you
choose the correct form of the word/phrase.

4. | am happy you are helping me with the assignment. This kind of work is notreally my

(A) Cup and sauce (B) Cup of tea (C) Cup of coffea (D) Tea cup
2. The discussion was bynomeans __ - it went on for more than four hours!
(A) Cut and dried (8) Chopped and diriad

~(C) Cut and shredded (D) Dried and cut

3. Choose the correct spelling of the woard,
(A) Believe (B) Beleive (C) Believ (D) Beleav

4. Choose the correct phrase.
(&) Down and up () Down and oul (C) Down and town (D) Cut and down

Direction (Q. No. 5 and 6) : Fill in the blanks using the correct word/phrase.

5. A class full of very good sludents means failures for the teachers to worry about.
(A) Lesser (B) Less {C) Fewer (D) Less than

6. He ssems to know a lot about you! How long have you ~_ him?
(A) Known (B) Knew (C) Been knowing (D) Know

7. Spot the error in the sentence.
Becoming a monitor / often means / to lose fricnds. Mo errar
&) - (B) (€) (D)

6 1
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8. Complete the conversation with the correct word,
Ravi: | think it's really exciting to 9o to new places,
Teacher: What ——__ keep in mind if You are going to a new place,
(A) Do you have to (B) Can you (C) Have you to (D) Must you have fo
9. Change the given direct sentence to indirect.
‘Drive carefully!” Ram said to me. ;
(A} Ram said to me drive carefully. (B) Ram ordered me drive carefully.

(C) Ram told me to drive carefully. (D) None of the abova,

EEE SR R - READING :

Direction {Q. No. 10 and 11) : Read the Passage and answer the following questions.
The fly was finally hers. It had taken Mini hours to trap it, byt now, exhausted, it buzzed ang crashed
hopelessly around inside a pickle jar. Kneeling on a chair, she took a chapatti and spread it with a thick
layer of butter, wiping the knife clean against the edgé of the dish, the way her mother used to and
savored her victory, She was again in control,

10. The event of trapping the fy is compared with | =1 m ;

(A) The taste of chapati and bulter (B) A war followed by celebrations
(C) A celebration by the victor (D) The defeat of the oppressed

11. Which of the following expressions would you use g describe Mini's emolions after trapping the fly?
{A) On cloud ten {B) Under a cloud
(C) On cloud nine (D) Every dark cloud has a silver lining

i . -SPOKEN AND WRITTEN EXPRESSION .
Direction (Q. No. 12 and 13) : Find one sentence to complete the dialogue,

12. Teacher to student : | thought ¥ou had been doing your homework regularly. Why are you still so irregular
with your work? :
(A) 1 will let your Parents know that you have failed this year.
(B) I'm afraid, at this rate, I'll have to give you a ‘D’ grade.
(C) I'm expecling you to earn g ‘0" grade, (D) 1 think you will do well this year,
13. Manasa : Vinu, it's the Maths class now! | forgot my boak.
(A) Could you share your book with me today,
(B) Look here! Give me that book of yaurs!
(C) Can I buy a Maths book?

14. Sentence 1 - The blackbucks are mainly grazers and prefer to eat green fodder,
Senlence 2 - L I
Sentence 3 - e e e U SRR TS S
Senlence 4 : Unfortunately most of their habitats are being converted to agricultural fields ang this is
forcing them to feed on Crops.

P.  This has restricted thair distribution to areas that are close 1o cullivation,
Q. They also need to drink water twice a day so they do not live far from the source of waler.
R. This gives rise to man-animal conflict and hundreds of them are being killed.

"

__{A} Po . 4B g N H{G) PR _ ABIRE WAl |
15. Sentence 1 : The Pageanl's Handbook of First Aid is a must for every home,
Senlencaz‘:__'____ P I e (Yo
Sentence 3 :

Sentence 4 - Then seal and send this post-paid cover back to us,
P. Al you have to do is write the names of 14 friends who enjoy reading.
Q. You can gel it free, with no contest or prize to be wan,

R. And we will rush you the booklet free of cosl,
(A) PQ _ Byap (Y BROIN0NIE TTAY (D) ar.
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1. NAME : Il your namae is SACHIT AIYER, then you should wrll:a a3 folows :
2 39 I3 K7 R 5.3 .9 A0 53O ) U D0 i) |
2. FATHER'S NAME : If your father's nama is SATISH KUMAR IYER then you should write as follows - i
[sTATT[aTsTH] E:3 71 0 N I A 03 3 I O I A
W 3. SCHOOL CODE
(M) (H] (o] (& [T1| write your schoot code 4. CLASS 5 ROLL NO.
] @ @ [ @ | ie if your school code If you are in Class If your rell no. is 587,
s} @& [ @ [F (0 | s MHO547 darken as 10, then you should  then you should write
c} © [ @ [ @ | folows: darken as follows:  and darken the circes
ol @ Gl @ G} @ . a3 follows -
? B @ @ @
4 2 K 4 & _ [0 @ |6 (@
0 [ @ 0 eg— E:rf;gr:m Darken -m* % g g
Ly @ fE} @ [ @ : 1 circle !6' %i = .-;;
] @ Bl @ B @ M 2 1K 2
K ® i 2 i @
g © M @ | @
:E. a :-&:l - @
o] @ 6. GENDER ol .
& G If you are a bay, 5 g o 4
@ G then darken ] (& (2] 3@
(R} @ Male circle . -
g % GENDER L =
1 © # CORRECT :
M © i, way lodarken = i, way to darken
@ ) _ circle . qu:le
<y ®
] © ; E -
2] @ . 7. Iiyaurmm{mﬁnswﬂsc then you sh-uu!d darkanﬂ:aurclaasfn!m 1. @ @ . @
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